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LEAVING CERTIFICATE EXAMINATION, 1992
TECHNICAL DRAWING - ORDINARY LEVEL
PAPER Il (A) - ENGINEERING APPLICATIONS
200 marks
MONDAY, 22nd JUNE - MORNING 9.30 to 12.30
INSTRUCTIONS
(@) Answer question 1 and two other questions.
(b) Drawings and sketches should be in pencil unless otherwise stated.
(c) Where dimensions are omitted they may be estimated.
(d) Credit will be given for neat orderly presentation of work.
(e) Candidates should work on one side of the paper only.
(f) The Examination Number should be written on each drawing sheet used.
(g) All dimensions are in millimetres.
1. Details of a MACHINE VICE are given in Fig. 1 with a parts list tabulated below.
INDEX PART REQUIRED
1 BODY 1
2 SCREW 1
3 LOCATING PIN 1
4 MOVABLE JAW 1
(a) Make the following drawings of the assembly in first or third angle projection.
) A sectional side elevation on section plane CC.
(1) A half plan projected from view (I).
(b) Insert the following on the drawings:-
() Title:- MACHINE VICE ASSEMBLY
()} ISO projection symbol.
({1l)] Four leading dimensions. (100 marks)
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2. The Plan and incomplete elevation
of the junction between a cylindrical

and a square pipe are shown in Fig. 2. i UG 2

(a)

(b)

(©)

3. (a)

(b)

Draw the plan and complete the elevation.

() Draw the surface development of o '
the square pipe with the joint —
on the shortest edge.

(1) Draw the true shape of the
hole in the cylinder.

Make a large freehand sketch of a
single bead swage as used in sheet metalwork.

(50 marks)

A radial plate cam rotates anticlockwise at 60
revolutions per minute and operates an

in-line knife edge follower. The nearest
approach of the follower to the cam centre

is 40 mm. Draw the profile of the cam to give
the following motion to the follower:-

Rise 50 mm with uniform velocity for 0.25 seconds.
Dwell for 0.25 seconds.

Fall to initial position with simple harmonic

motion for 0.5 seconds.

Include the displacement diagram as part of the solution.

Fig. 3 shows a machine linkage. A and O are fixed
points and AB and BC are two links which are pivoted at B.
The point D is connected to a crank pin which moves
in the pitch circle as indicated.

)] Using a line diagram to represent
the linkage plot the locus of C C
for one revolution of D about O.

(i) Draw the profile of a simple machine guard

about the mechanism with a minimum
clearance of 15 mm.

(50 marks)




4. (m)  Using tho data table below, make a fully dimensioned dr.

awing, showing all specifications, of the adjusting
scrow shown In Fig. 4. Use the shoulder indexed ¥ as the datum.

Diameter 16, length 10, sphere radius 16.

Screwthread - Metric 20, Pitch 2.5, Length 40.

Length 10, Diameter 16,

Diametor 40, Length 10, radius 5.

Diamcter 80, Length 30, Chamfer 3 x 45°.
Finish -

Diamond Knurl.
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(b) (1) Identify the mechanism shown in Fig. 5.
(W Name the Parts 1, 2, 3, 4.

() Sketch and name a clip, suitable for retaining part A in the housing B.

(c) With the aid of freehand sketches explain any two of the following engineering terms:

(1) BUSH
(n TAPER
(1 LUG (50 marks)
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(@)

(b)

to. i? shows a plan and elevation of a guide shos
direction of arow v, wih the quadiant removed on section p

SECTON A
Draw ain ootk view of i ahoe, Viewadd I Hhe
lann AAA

Y moans of lage freehand shetehes, disingulsh botwoan the followlng:

) ROUND KLY,
(i WOODRUEE KEY,
(hy SQUARE KEY,

Complete the following tablo on your drawing sheot,

Al

SECTION B

tho list angwer haa boen enterod for guldanen,
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(b)
(c)

(d)
Q)

Name three types of INPUT device used in computor aided drawing.

Which of the following produces the best quality hard copy:

)] DOT MATRIX PRINTER.

(W) INK JET PRINTER.

(i)  PLOTTER.

With the aid of a sketch and a shor note, explain what is meant by incromental programming

Which one of the following would

be tho MOST suitablo snap
resolution for tho drawing shown
in Fig. 6.2 7

e 3

Fig. 6.2
Fior 6.2 (1) 0.05
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vy (50 marks)




R25

50

w

SECTION BB

200

110

30
SECTION AA

M25 x4
$

—

:'34-'
N4
1
L

100

0
e ¢iﬂ!
mmm| _
] ] I
Jv..*_,lm.__nl | un
h_l_mﬁl _ i

/

PROJECTION
TEILGEAN

FIOR 1

FIG. 1




R @ 777
//////)({ _ ///M/ /§ 2\
CELET I ////////////// r $

FIG.5  FIORS ////////




FIG.6 FIOR 6

10, o040 10,
I

‘ émo =

‘—_T_ ]
B 1 i
| N ~
| \ | 1 L | _
2 HOLES
15 90 15
o e ®20
/e
o . / !

10




